
 

Factory UTV LLC ©2022 —  Polaris RZR Pro R  ( 2022+) UHMW Rocksliders Instructions  v3.0     pg.   

Polaris  
RZR Pro R ( 2022+)   

U.H.M.W. Rock Slider / Under Armor Package  
Ultra. High. Molecular. Weight. polyethylene all terrain skid plate / under armor kit for UTV’s 

Contact Us:   FACTORY  UTV  LLC. 
9237 Beatty Drive Sacramento, CA 95826 
Phone : (916) 383-2730 
E-mail : info@factoryutv.net 

Go online:  www.Factoryutv.net 

Standalone Rock slider Installation Guide  



 

Factory UTV LLC ©2022 —  Polaris RZR Pro R  ( 2022+) UHMW Rocksliders Instructions  v3.0     pg. 2 

      Bracket Installation page   .                 

Using spacers as necessary to ensure even fitment, 

Install (2x) 3/8” flange bolts and (2x) zinc washers  

on the inside of the chassis tubing in ( R ) location's. 

Fasten bolts securely, (Use of thread locker recommended.) 

Un-fasten stock bolts,  

and save hardware for Re-installation. First: #A 

plastic clamps  

A.)  Remove stock skid plate, save stock hardware for later steps., 

B.) Install Left and Right Rock slider mounting brackets 

R  Front 

R 

R 
R 

                                    Install Rock slider Mounting Bracket,  

through side mounting holes in chassis frame. Ensure larger end mounted forward. 

#B 

Use spacers to align bracket until mount is flush with stock plastic 

With Skid plate Removed,   

Fasten inner bolts from below 

After  
Brackets are installed,  

Re-install Skid plate  

Second: 

Large washers 3/8”  (#W-4:2) 

3/8 x 1” Flange bolt  (#B-H:19) 
 4x 

 4x 

 Small spacers  (#S-S:3) 
 8x 

Rock Slider  

Bracket Hardware 

 

 J-Clip (installed on bracket) (#N-13) 
 8x 

Rock slider Bracket L & R (#E-B:14 :15) 
 2x 

* 

* 
* 

* 
* 



 

Factory UTV LLC ©2022 —  Polaris RZR Pro R  ( 2022+) UHMW Rocksliders Instructions  v3.0     pg. 3 

Polaris RZR Pro R ( 2022+)  Rock slider Installation              

Once Rock slider Brackets are installed, (see bracket installation page) hold rock slider in place, 

loosely install: (4x) M6- 1.0 x 25mm Flange Bolt with (4x) Counter sunk washers in B locations.  

loosely Install: (2x) M6- 1.0 x 30mm Flange Bolts in C locations and (1x) M6- 1.0 x 35mm Flange Bolts in D locations.  

Fasten bolts with (8x) Countersunk Washers in all locations. Adjust for best fitment, fasten all bolts securely when done. 
 Repeat steps for remaining Rock slider. 

B 
B 

B 
B 

B 
B 

B 
B 

Rock Sliders small bag: #6 

Front 

C C D 

  Counter Sunk Washers (#W-1) 
14x 

  M6- 1.0 x 25mm Flange Bolt (#B-A:6) 

 8x 

 

  M6- 1.0 x 30mm Flange Bolt (#B-A:7) 
 4x 

 

  M6- 1.0 x 35mm Flange Bolt (#B-A:8) 
 2x 

 

C C D 

* Rock sliders do not work in conjunction  
with “nerf bars” or “tree kickers”. 



 

Factory UTV LLC ©2022 —  Polaris RZR Pro R  ( 2022+) UHMW Rocksliders Instructions  v3.0     pg. 4 

  Counter Sunk Washers (#W-1) 
14x 

  M6- 1.0 x 25mm Flange Bolt (#B-A:6) 
 8x 

 

  M6- 1.0 x 30mm Flange Bolt (#B-A:7) 
 4x 

 

  M6- 1.0 x 35mm Flange Bolt (#B-A:8) 
 2x 

 

Polaris RZR Pro R ( 2022+)  Standalone Rock slider Hardware pack list 
Rock Slider hardware small bag: #6 

Large washers 3/8”  (#W-4:2) 

3/8 x 1” Flange bolt  (#B-H:19) 
 4x 

 4x 

 Small spacers  (#S-S:3) 
 8x 

 J-Clip (installed on bracket) (#N-13) 
 4x 

Pro XP Rock slider Bracket R (#E-B:14) 
 1x 

 J-Clip (installed on bracket) (#N-13) 

 4x 

Pro XP Rock slider Bracket L (#E-B:15) 
 1x 

Rock Slider Bracket small bag: #6 

Rock Slider Brackets: 

 


